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(1) If the 1st and the 3rd term of an arithmetic progression are -
10 and -4, what is the 12th term?

gfe SHIMORITT Ui & Ugd IR R UG -10 3R -4 ar 12 af

U /1 8?
SCCGL2017-22AUG-S2 : 64
(a) 26 (b) 20 (© 17 (d) 23

(2) The 3rd and 7th term of an arithmetic progression are -9 and
11 respectively. What is the 15th term?
% qATR Joft &1 FRIRT SR TTaat ug R -9 3R 11 81 1581

e DIF A1 8?
SCCGL2017-21AUG-S3 : 64
(a) 28 (b) 87 (©) 51 d) 17

(3) The 3rd and 9th term of an arithmetic progression are 8 and
10 respectively. What is the 16th term?

AR Joft BT TRT 3R 197 UG HHE: 8 3R 10 1 1691 Ug T

7
SCCGL2017-17AUG-S1 : 64
(a) 34 (b) 28 (©) 25 (d) 31

(4) What is the sum of all prime numbers between 60 and 80?
60 T 80 & & o arelt Wt aruTy TReATSHt &1 AN fara 82
SCCGL2017-16AUG-S3 : 51
(a) 272 (b) 284 (c) 351 (d) 414
(5) The 3rd and 8th term of an arithmetic progression are -13
and 2 respectively. What is the 14th term?

TR St &1 fRT SR SMeat ug BT - 13 R 271 14-F UG
1 87
SCCGL2017-17AUG-S2 : 64
(a) 23 (b) 17

(c) 20 (d) 26

(6) What is the sum of the first 12 terms of an arithmetic
progression if the first term is -19 and last term is 367

T ATR J0ft & TT 12 USH &1 AT a1 g, A Ugan ue - 19 §
3R 3ifom ug 36 B
SCCGL2017-17AUG-S3 : 64
(a) 192 (b) 230 (c) 102 (d) 214
(7) What is the sum of the first 12 terms of an arithmetic
progression if the 3rd term is -13 and the 6th term is -4?

AR U7t & UgS 12 UG! &1 AT 97 § Tfe JRT Ug - 13 3R

ToIUS - 487
SCCGL2017-18AUG-S1 : 64
(a) 67 (b) 45 (© -30 (d) -48

(8) The 4th and 7th term of an arithmetic progression are 11 and
-4 respectively. What is the 15th term? !
iR Aoft 1 =T SR Hiefat UG B 11 3R -4 81 151 UG

T R?
SCCGL2017-18AUG-S2 : 64
(a) -49 (b) -44 (©) -39 (d) -34

(9) What is the sum of the first 17 terms of an arithmetic
progression if the first term is -20 and last term is 28?

TS iR J07 & UUH 17 UG BT IR 1 g, e Ugal Ug -20 §
3R offcm Ug 28 7
SCCGL2017-18AUG-S3 : 64
(a) 68 (b) 156 (c) 142 (d) 242
(10) The 7th and 12th term of an arithmetic progression are -15
and 5 respectively. What is the 16th term?

IR Joft &1 Trdat 3R TREa! UG A 15 AR 581 16 1 T T

22
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SCCGL2017-19AUG-S1 : 64 (16) What is the sum of the first 11 terms of an arithmetic
(a) 25 (b) 29 () 21 (d) 33 progression if the 3rd term is -1 and the 8th term is 19?

(11) The 2nd and 8th term of an arithmetic progression are 17
and -1 respectively. What is the 14th term?

TR HUTt BT G 3R 3M1SaT UG HHRL: 17 3R -151 14 I UG
FE?

SCCGL2017-19AUG-S2 : 64

(a) -22 (b) -25 () -19 (d) -28

(12) What is the sum of the first 9 terms of an arithmetic
progression if the first term is 7 and last term is 557

T HIGR A0 & UYH 9 UGT T TNT -1 BT, TfS Uge U 7 @ 3R
3ifqw ug 55 g

SCCGL2017-19AUG-S3 : 64

(a) 219 (b) 137 (c) 231 (d) 279

(13) If the 3rd and the 5th term of an arithmetic progression are
13 and 21, what is the 13th term?

e T BT weIfa &1 Oy 3R uiwdi ug 13 3R 218,
13 91 UG FT §?

SCCGL2017-20AUG-S1 : 64

(a) 53 (b) 49 (c) 57 (d) 61

(14) What is the average of all natural numbers from 21 to 39?
219 39 9% fob Tt repfaes Remat fs g g2
SCCGL2017-20AUG-S2 : 56
(a) 30 (b) 31 (c) 29 (d) 28

(15) The 2nd and 6th term of an arithmetic progression are 8 and
20 respectively. What is the 20th term?

TP IR Joft 1 gERT 3R TaT Ug HAM: 8 3R 20 § | 20a1 UG
B ?
SCCGL2017-20AUG-S2 : 64
(a) 56 (b) 65
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T TR Aot & T2 11 ek &1 4 3, afe AeRTug -1 7
3R offaat Ug 19 7
SCCGL2017-21AUG-S1 : 64
(a) 204 (b) 99 (c) 25 (d) 104
(17) The 3rd and 6th term of an arithmetic progression are 13
and -5 respectively. What is the 11th term?

T% TAIR Joft &7 T 3R Ba7 UG B 13 3R -5 §1 1137 g
B AR
SCCGL2017-21AUG-S2 : 64
(a) -29 (b) -41 (c) -47 (d) -35
(18) What is the sum of the first 12 terms of an arithmetic
progression if the first term is 3 and last term is 477

ST Tfd & U 12 el B AT R 3, afe ugen ug 3
3R sifaw ug 47 71
SCCGL2017-22AUG-S1 : 64
(a) 260 (b) 300 (c) 280 (d) 220
(19) The 3rd and 8th term of an arithmetic progression are -14
and 1 respectively. What is the 11th term?

T IR AUT BT FIRRT 3R 3M1&a1 UG HHE: -14 3R 181 11-af

UG D ATE?
SCCGL2017-22AUG-S3 : 64
(a) 14 (b) 16 (©) 20 (d) 10

(20) The 5th and 9th term of an arithmetic progression are 7 and
13 respectively. What is the 15th term?
T GHIR Huit 1 yiFar 3R Hiaf U HHRT: 7 3R 13 81 1531 UG

R R?
SCCGL2017-23AUG-S1 : 64
(@) 22 (b) 21 () 55 (d) 59

(21) The 3rd and 6th term of an arithmetic progression are 19
and 37 respectively. What is the 13th term?

TP IR Aoft 1 R 3R S31 Ug HH: 19 3R 37 §1 1331 Ug
2
SCCGL2017-23AUG-S2 : 64
(@) 79 (b) 43 (c) 45 (d) 49
(22) What is the sum of the first 13 terms of an arithmetic
progression if the 5th term is 1 and the 8th term is -17?

TH IR Aoft & T 13 UGT &1 AN 1 g, AfS UiEar UG 18 3R
3T3a1 UE -17 §
SCCGL2017-23AUG-S3 : 64
(@) -140 (b) 61 (c) -143 (d) 166
(23) What is the sum of the first 11 terms of an arithmetic
progression if the 4th term is 11 and the 7th term is -4?
TR Aoft & Ugd 11 UGl &1 AT T § afe AT ug 11 3R Jraat
UG -4 57
SCCGL2017-06AUG-S1 : 64
(@) -75 (b) 55 () 11 (d) 100
(24) What is the sum of the first 11 terms of an arithmetic
progression if the first term is -31 and last term is 29?

AR 9ot & Ugd 11 UG T AN T § TS Ul UG -31 § 3R

sifam ug 29 82
SCCGL2017-06AUG-S3 : 64
() 42 (b) -11 () 28 d) 12
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(25) What is the sum of the first 13 terms of an arithmetic
progression if the first term is -10 and last term is 267

TH SR WA & Ul 13 UGl &1 91T 91 §, 3R Uga UG -
10 g 3R sifad Ug 26 B

SCCGL2017-20AUG-S3 : 64

(a) 104 (b) 140 (c) 84 (d) 98
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Solution

M

210 divided by 11
Quotient = 19
Reminder = 1
210-1 =209

(e

X+ %=10

= x?+9=10x

= x2-10x+9=0
After solving we get
X=9,1

(3)

LCM of 7,11,14=154
1812/154 remainder=118
154-118=36

4
Multiple each term by 113,120,145 and 160. So that
denominator of each term can be equated. Now look

up
for the largest term that is 17/160.

(©)

Perfect square and a perfect cube That means it has to be x°
36=729

46=4096

56=15625

(6)
37x66=2442 is the least nearest multiple of 37.
The remainder when 2468 is divided by 37 =2468-2442=26.

(7)
Let fraction is x

According to question
2x + Y =%

2x2 + 1= "%

After solving

12 =17x+6=0
12x° - 8x—8x + 6
After solving

(4x-3) 3x-2)

X = 341 = 2/3

2/3 is not in given option
So ¥ is correct answer.

(8)

Let 1st no. be x,

Second no =x + 1

Third no = x + 2

Now, (X + X+ 1T+x+2)2=x2+ (x+ 1)2+ (x +2)2+ 292
=(Bx+3P2=x2+x2+2x+1+x2+4+4x+292

After solving

xX* +8x—-6x-48=0
X(x + 8) — 6(x + 8) =0
X = 6.

~ Largest no. = 8

(10)
5000=2x2x2x5x5x%x5x5
Divide by 2= 2500 (it is a perfect square of 50)

(11)

LCM of 2,3 and 7 is 42
700/42=16

300/42=7

16-7=9

(12)

1 1 0 1 1 1 1

Tx26 [ 1x25 [ 0x24 | 1x23 | 1x22 | 1x2" [ 1x20

64+32+0+8+4+2+1=111

(13)

x+7/x)=11/2
=0+ 7)/x=11/2
=2x* + 14 = 11x
=22-11x+14=0
=>x-2)(2x-7)=0
X =2, x=7/2

(14)

Total Number between 700 and 950=250
Divisible by 3=250/3=83

Divisible by 7=250/7=35

LCM of 3,7=21

Divisible by 21=714......945=12

Neither Divisible by 3 nor 7=250-(83+35)+12
=144

(15)
Let the fraction be ;—c

So adding 5 we get *)i = g

So 5x + 25 = 6y

3 & x 1
Similarly — = -
y+é 2

We get 2x = y+4

Multiplying first equation by 6 and simultaneously solving both

the equation we get xas 7 and y as 10
So %

(16)
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A:%(B+C) So,x =4
B+C= 2A (25)
% 4131/19 Remainder 8
So, A + 5 A = 60500 19-8
11A = 60500 x 2 =11 Added
A = Rs. 11000 (26)
And Let the fraction be x
2 ax—=1/x=72/77
B=-(A+Q) =21 = 72477
7B =77 -77-72x=0
Ad G = S 77 -T2x—-T77 =0
B + 7 B = 60500 On solving above eqgn.
3 x=11/7
B = Rs. 18150
C = 60500 - 11000 - 18150 = Rs. 31350 28)

(7
1200=2 x 2 x 3 x 10 x 10
3 is required to become perfect square

(18)

First natural number = 1

Last natural number = 93
We know
Average =
i 1—93/2 & 94/2 =47

first natural number+last natural number
2

(19)

For divisibility by 11,

Sum of digits at even places minus sum of digits at odd places
should be 0 or divisible by 11

~6+4-5-M =0 oramultiple of 11

If value of M is 5, then it is 0 and divisible by 11.

(22)

So,

On factorizing the given number 1287
=1287=3x3x11x 13
=9x11x13

So, highest number is 13.

(23)
2116 = (46)°
Is the prefect square

(24)

Let number = x

As per question

x+4/x =5

x2+4=5x

x?-5x+4=0

x=1and4

If we take x = 4then it satisfy the OPTION

Let fraction=1;
v X
4x*+6y*=11xy

=4x%+6y>-11xy=0

= (4x-3)(x+2y)=0

(29)
9999/93 Remainder=48
Highest four-digit no. divisible by 93 is = 9999 — 48 = 9951

(31

Let the fraction be x

~ ATQ

2x + 3/x = 29/3

=2x* +3=29/3x
=6x°-29x+9=0
Solving the egn. we get
x=9/2

(35)
So, 329 is completely divided by 7. So, nothing is to be add — on.

(38)
C:A=63:24
=21:8
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